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~ Answer all the questions:
TF ‘® (Group 'A") [3x(1+1)=6]

1 (a) 5@ Fona (CA), T (P) T vt =amwr (CI) @ vy SFegieL !
Write the relation between compound amount (CA), principal (P) and

. compound intere
(b) e p A .

(b) F=f O WO FTAr IR AT AXB T =9
CYD #7&Y 9M9e® g1 w1, ZAOB T ZCOD

AT @ G ! | T
In the circle with centre O, if arc AXB and X
arc CYD are congruent arcs, what is the . o

relation between ZAOB and ZCOD?
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0))
1w (Groyy, g1 [4x(2+2)+3x(2+2+2)=34]

4 (a) 20% arffs _
: am;? S S 1,600 7y e €2,304 & Fa q9d

In what time does Rs.1,600 amount tg Rs. 2 304'at the rate of 20%
perannum compounded annually? ’

(b) T¥er AR 5. 2,50,000 1 2 ey st e | AT 10%
- TRH R T 3| A e B Fa g ? gl
ERIEEEEY

Two years ago, a

(b) ¥

© T gl IR - 88 =t

base?

6 (a) 316+3/54-3/250 7 @ AT AT |
Write the single term for /16 +3/54 -3/250 .

(b) T A (Simplify): 3f125x7y° x Y6dx~y"?

x+l

7 (a) 99 TOT AN (Evaluate):

3X
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(b) I TR (Simplify): —_-l____ 1
e Y ey

' ' 2
(0) W“W(Simphﬁ/), 'a +ab+b2+ 1

a-b a-b
i 6 fqadl AEFC T AECD &t érawet gowar: 8 af
gk V18 A g af wwnmR gl
DEFG #1 &% 36 af &.f7. W, smaa
- ABCD @ 86T T gy 7
In thie figure, the area of AEFC and AECD
is 8 sq.cm and 18 sq.cm respegtive he
area of parallelogra : .

9 (a) AABCHI ZABC=30°,AB=6%fy ¢ BC =4 &.f7. g1 | AABC
F HAPT FA &7 7 ‘ )
In triangle ABC, ZABC = 30°, AB = =4 :
the area of AABC? 6 m and BC o Whats
(b) { ” Icﬂ d "E;ql qﬁ' ?ﬁl’r ﬁﬂlfﬁ]‘ (Q3)= 56 L - 50 f= 10’ c.f = 39,
-i=1°‘N=53+,k‘N-ka$rmq-m ’ ’
In a continuous series, if thirq .
S 3 quartile =56,L=
SEEe L I0mdN=5 () & e v(gﬁl ofsk.
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(a) TR RFCTERT 52 ST WEflE® WUH! AT Uab Tradiare et tger ame et
I AT T T T T ST T &g 7 T g

If a card is drawn randomly from a well-shuffled pack of 52 playing
cards, what is the probability that it is either a king or a queen card?

Find it. :

(b) TSET SRITTAT 4 3fTeT HaAl T 3 31 Tt I T IX o ThawaT g | -
T Tl s T 2 AT FwEs e, dRwves T € 2 vae Adr
ae T GETAT Fid 8 ?

There are 4 white balls and 3 red balls of the same shape and size in
a bag. Two balls are drawn one after another without replacement,
what is the probabil : stred and second white balls?

[10x4=40]
FT TR EoidcEiped
80 ST TR CRICREI LS
36 ST T 20 ST &
ferqaam ufer Jxf yafa
ET T O
Inafinale 6 passed in
Science, 80 d 26 passed
in Science d Nepali, 32
passed in Scien the subjects.
Find the nu

12) TR HITEEEAS AGD 3 feaet ATeaTE S

mm%ﬁqi%mﬁqz SHIEERIRICACEIC R |

ufvafe Feafea @ drewarese & 1,92,100 §7 3% 99 gg @H T g Ihea
T TSR |
The marked price of a motrobike is Rs 2,00,000. A dealer allows a certain

discount for festival offer and levies 13% value added tax. If a customer

pays Rs 1,92,100 for the motorbike including value added tax, find the
discount amount and rate of discount. -

13) T¥er AR AR A g areier PR gagst sAwe 240 &

afn g aft i@ ceer qerer avarg 12 i su, Rrofreer smaw Fh
&g 7 T AR |

. HHA
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The area of four triangular surface of a square based pyramid is 240 sq.
cm. If the length of one side of the square is 12 cm, what is the volume of
the pyramid? Find it. )

14) 7.5, war ame1zi, (Find the H.C.F. of):
P+ 2y +y, X-, Xy

2 2
' s

15) 3% x2 +2=55+5° qqxﬁrmqmmmﬁmn

2 2
If y2+2=55+5 ¢, find the value of x.

T A% F0aL 3G Il

FHIOTE a4 |
Triangles st he same parallels are
17) 7PR=64.[.
Zil < A T2,
R = 7 cm and
and equal in
area of
18) 9441 % g YA
w T JEREERL Q)
Explore exp ]

at Jeast 3 cm.)
19) 3z 1.7 faz7 77t 7% 2ge f
TOTAT ZAATFA T2 TAIST I 45° 910G, 1 €@ $1E Iu S Terd |
A person of height 1.7 metres is 40 metres far from the station tower of

Radio Nepal and he observes the top of the tower with the angle of elevation
of 45°. Find the height of the tower.

20) 77 3071 FoNZFATE AAAF T GBI :
Find the median of the data given below:

Z47 7791 0-10 |10-20 [20-30 | 30-40 }40-50 | 50-60
(Age in years) \
nAgEEE aZA 4 6 20 10 7 3
(Number of persons)
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; F U’ (Group 'D") [4x5=20)
21)" 2072 A TR TGN T STz 1,00,000 fr T At wwae@”

TR 4% R | 2073 TR T 16,000 Thraes FrrE a0 AT
T e FRaT T AT S 2075 P GRHT SR Fhy g 2 2073 AT

' |
TAIE TALET W 2075 F Teab! TSR Tt Hies w2df 7 wmﬁ%n
The population of amunicipality in 2072 was 1,00,000 and annual pOP

' s in
[' f) growth rate was 4%. If 16,000 pec ple migrated here from qthef place

. : £207571f
the beginning of 2 in the beginnin& 0

ould be the

, what W
it.

metre? Give reason. -

M N
EﬁWCtDmmﬁ'AC%DtﬂmAM:WBN |
wéACM=£BDNﬁmﬁmﬁmmiﬂm (A

in th'e'given figure, O is the centre of the circle. Cand A ‘wl' B

D are any two points on the chord AB. IfAC=BD and
. arc AM — arc BN, prove that ZACM =.ZBDN.
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